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1. maths(English)
1) Find the sum of all the prime numbers Between 20 and 30.
2) Divide the sum of the first five odd numbers by the sum of the first two prime numbers.
3) Subtract 2 from the sum of the first five even numbers. The difference is then divided by the
first odd number following 5. What is the quotient?
4) Find the value of[4+8]+[5x4-6]and give the answer correct to 2 decimal places
1) All the prime numbers between 20 and 30 are 23 and 29,
The sum of all the prime numbers Between 20 and 30 = 23 + 29 = 52
2) The first five odd numbers are 1, 3, 5, 7and 9 N
The sum of the first five odd numbers = 1 + 3 + 5 + 7 + 9= 25 F "

3) The first two prime numbers are 2 and 3 \_)
The sum of the first two prime numbers = 2 + 3= 5

4) The first five even numbers are 2, 4, 6, 8 and 10 /\ ,.
The sum of the first five even numbers= 2 + 4 + 6 + 8 + '13: 30

5) The difference between the sum of the first five eNnurmers and 2

=30 - 2= 28 4
6) The first odd number following 5 is 7
The quotient = 28 / 7= 4 4
7) The value of [4+8]-+[5X4-6] \
=12 + (20 -6) =12 <+ 14= 0.86.(«Corr. to 2 decimal places )
2. Six trees are equally spaced ng‘*one side of a straight road. the

distance from the first treex to the fourth is 60 feet.what is the distance
in feet between. The first and last trees?
3. At the end of 2005 walter was l@}f z% old as has grandmother.The snm of the years in which
they were born is 3860 .%m will walter be at the end of 2006?
4. The digits 1,2,3,4 and’9 are each used once to form the greatest possible even five-digit

number. What is&l;?digit in the tens place?
%k
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I. In 200%, L6 J\ne falls on a Wednesday. On what day of the week will 16 June fall in 2010?
2. Ina magic square the sum of the numbers in each row, in each diagonal and in each column ar
e.equal. In'this magic square the value of x is:
3. 1f half PPJa number is 30, then three-quarters of that numberis_ .
4. The/stm of the digits of the following product
999 X555
5. Three positive integers have a sum of 28. The greatest possible product that these integers can
haveis
6. Jack was trying to tessellate regular pentagons. He managed the following figure.
The size of angle .a. is
7. If the area of the shaded region of the regular hexagon in the diagram
below is 36 cm2, the area of the whole hexagon in cm?2 is
8. In what follows, [1 and A are different numbers.
When 503 is divided by [ the remainder is 20.
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When 503 is divided by A the remainder is 20.

When 493 is divided by [J x A the remainderis .

9. Alady, her brother, her son and her daughter (all related by birth) played
volleyball. The worst player's twin (who is one of the four players) and the
best player are of opposite sex.

The worst player and the best player are of the same age.

Who cannot be the worst player(s)?

A) brother only B) daughter only

C) son and daughter only D) lady and daughter only

E) lady only

10, If you continue the given number pattern, in what row and in what \
position in that row will the number 320 be? N C 4
1 - row 1 \_J
I row 2
456 - row 3 A ) °
VR LR P— row 4 94
N
The answers are given in the order of row ; position. V
BEER: ./

1. Wednesday 2. 12 3. 45 4. 27 CRHE; b EREF 2 FD 50 28=9+9+10, A%
% 810 6. 36 &£ 7. 108 8. 503-20=483 483=3><7><f3=21><23, BRI x A =483,

DRI B 42 B0 10. 9. D 10, 25, 20 \ @
Hibkk bk ok R o o Mle o o o o o solbkxHHHE
QY

B3 A LA
At10:30, the angle less than 180° -
Formet by hour hand and minute \"‘ 2

Hand of normal clock is__ N
k(eI dL: angle ffi;less than /N T; to from J2/&: hour hand %]

Minute hand 2%} 11E%, 1IEM;  clock 4, B4

x| T30 G I ) ) S BB, R AT A B SR

W22 e, IMARWORL AR R (R IR R, A B s (0 e T AR 2 2K 102 30 431,
FEF 5P RIN T 180 HISeA 2% /b2 2% 1359,

skekesksjesfeskekikokskekskekeskeok

ﬁ"%ﬁk ] ?/&’#PEL, WRATE X B Y 45, A — A REAT e B 5 20 A 1)
FEE W REAN AR E AT E?

Zre BB 12 KA 60 /g BE T KA 360 FRUL 12 55T 30 J& . RRk—ar8harEtaE 6
B, AR 0.5 B, B8R 5.5 . AR ATIREEE K.

X I, Ak 30X JE

Y 43, MEUE A EHE T E 5.5Y B T BRI BE R 30X sk 2 T IR 5.5Y . ik
AT ZE 2, WA, e HEAn S 2ob, RO BEECA AR F 3.

RN IR 5 04— e AN 2 £, — AT 180 BE, —ANKT 180 J&, (180 FEIf G —4
JA)

R A AT R IR hy: 130X-5.5Y|5K 360-[30X-5.5Y|[&F . || A5 EHT 5 o

Wr1: 40 75, AACALH: 30x1-5.5%40=-190 Ik 190 &, 55—N/INT 180 BEIRMA: 170
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JE.

i 2: 10, AARAAF: 60-55=5 . KT 180 FEMIffh: 355 .

4 11: 20, 330-110=220 &, /T 180 [Fff1: 360-220=140 Ji.

T WA 05 NI SO 2R A o 24N T I Bl o 27 A ) (3K 3 7 2
TR RIS, R, R DR .

Bk —AMRIRIR: 3: 24 WS 0ER MR

TR I T G T B

At10:30,the angle less than 180"

formet by hour hand and minute

hand of a normal colck is o

(LA M angle ffi; less than /N5 to from %, 1ERK; hour hand B 4l; minute haI}
£t normal IEH, 1ER; clock B, ) F "

)

1. An ant covers a distance of 90 metres in 3 hours. The average speed of thé\nt,iﬁ decimetres per
minute is____ . 04
2. In a certain town some people were affected by a ’flu’epidemiciIn the first month 20% of the
population contracted the flu whilst 80% were healthy. . //

In the following month 20% of the sick people recovered, and 20% of the healthy people
contracted the disease. 4

What fraction of the population is healthy at the end Qhe second month?

3. Mpho, Barry, Sipho, Erica and Fatima are sittirig.on a park bench. Mpho is not sitting on the far
right. Barry is not sitting on the far left. AN *

Sipho is not sitting at either end. Erica is sitting to the right of Barry,but not necessarily next to
him. Fatima is not sitting next to Siph0.§i£h0 is not sitting next to Barry.

Who is sitting at the far right? \“\

4. Of the 28 T—shirts in‘a drawer, six are red, five are blue, and the rest Are white. If Bob selects
T—shirts at random whilst pa?l{g for a holiday,what is the least number he must remove from the
drawer to be sure that b{ s three T—shirts of the same colour?

5.In an alien languaget@ borg farn means “good maths skills”. Nurf klar borg means “maths in
harmony” and da@m klar farn means “good in gold”.

What is “harmony gold” in this language?

6. Five'children, Amelia, Bongani, Charles, Devine and Edwina, were in theclassroom when one
of/thgm b);e‘l(e a window. The teacher asked each of themto make a statement about the event,
knowing/that three of them always lie and two always tell the truth. Their statements were as
follows:

Amelia: “Charles did not break it, nor did Devine.”

Bongani: “I didn’t break it, nor did Devine.”

Charles: “I didn’t break it, but Edwina did.”

Devine: “Amelia or Edwina broke it.”

Edwina: “Charles broke it.”

Who broke the window?

7. Did you know? A palindrome is a number which reads the same forwards as backwards e.g.
35453. Next year 2002 is an example of a palindromic number. What is the difference between
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2002 and the number of the previous palindromic year?

8. Ifa &Aring;b = (2xa)&#61483;(3xb) then the value of 2 &Aring;(3 &Aring;5)is .

9. Two ants start at point A and walk at the same pace. One ant walks around a 3 cm by 3 cm
square whilst the other walks around a 6 cm by 3 c¢m rectangle. What is the minimum distance, in
centimetres, any one must cover before they meet again?
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1. An ant covers a distance of 90 metres in 3 hours. The average speed of the ant in decimetres per
minute is____ .

3. In a certain town some people were affected by a *flu’ epidemic. In the first month 20% of the
population contracted the flu whilst 80% were healthy.

In the following month 20% of the sick people recovered and 20% of the healthy p%ple

contracted the disease. e

What fraction of the population is healthy at the end of the second month? U,

4. Mpho, Barry, Sipho, Erica and Fatima are sitting on a park bench.

Mpho is not sitting on the far right. Barry is not sitting on the far left. AL °
Sipho is not sitting at either end. Erica is sitting to the right of Barry, >
but not necessarily next to him. Fatima is not sitting next to Sipho.
Sipho is not sitting next to Barry. - //
Who is sitting at the far right?

5. Of the 28 T—shirts in a drawer, six are red, five are blue, and Ee rest are

white. If Bob selects T—shirts at random whilst packing for'a holiday, what is the least number he
must remove from the drawer to be sure that he hasithree T—shirts of the same colour?

6. In an alien language, jalez borg farn means ‘god maths skills”. Nurf klar borg means “maths in
harmony” and darko klar farn means #‘good in gold”.

What is “harmony gold” in this language?

7+ Five children, Amelia, Bongani, Qh\arl%s, Devine and Edwina, were in the

classroom when one of tl}e%e a window. The teacher asked each of them to make a statement

about the event, knowing thatithree of them always lie and two always tell the truth. Their

statements were as foli@s:

Amelia: “Charles did n ‘%ak it, nor did Devine.”

Bongani: “Ididn’t break it, nor did Devine.”

Charles: “I didn?t break it, but Edwina did.”

Devine““Amelia or Edwina broke it.”

Edvgipa: “%rles broke it.”

Who broke the window?

8. Did you know? A palindrome is a number which reads the same forwards as backwards e.g.
35453. Next year 2002 is an example of a palindromic number. What is the difference between
2002 and the number of the previous palindromic year?

9. If a ®b = (3xDb) then the value of 2+(2xa) &3 @5)is___ .

10. Two ants start at point A and walk at the same pace. One ant walks around a 3 cm by 3 cm
square whilst the other walks around a 6 cm by 3 cm

rectangle. What is the minimum distance, in centimetres, any one must

cover before they meet again?

N
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Lo HATHRET, JERURIA, 90x10+ (3x60) =5
2. 46

3. 0.68

4. Erica

5. e ) 7

6+ J1 R ——XJ ¥, borg= maths, farn=good, jalez=skills. Klar=in, Nurf=harmony, darko=gold. %
2 /& Nurf darko.

7+ Charles

8. 1001

9. 67

10. 108

Did you know? In the decimal number system (base 10) ten different digits, 0 to 9,

are used to write all the numbers. In the binary number system (base 2).two different

digits are used, i.e. 0 and 1. ,

Which one of the following numbers is not a valid num%infz‘he

octal number system (base 8)? P

A) 128 B) 127 C) 126 D) 125 E) 124 e 7

3. The number of diagonals that can be drawn in a r,egular polygon with

twenty sides (icosagon) is .

4, If a and b are integers, 10®3=1, 152@7:5Qand then 379®6 is equal to

5. Two numbers are in the ratio 2 : 3..When 4 is added to each number the ratio

changes to b : 7. ‘{\\ )

The sum of the two original numbers is .

6. The greatest number of Monda Yhich can occur in 45 consecutive

days is_ \‘\

7. Saul plays a video’'g in %ich he scores 4 for a hit and lost 6 for a miss.

After 20 rounds his score is 30. The number of times he has missed is

8. Three girls A, ‘2‘1 C run in a 100 m race. When A finishes, B is 10 m

behind A and when B finishes C is 20 m behind B. How far in metres was

C from Aghen™A finished?

(Let’ s assu&ﬁl the athletes run at a constant speed)

9. Ahe ateas of the faces of a rectangulabox are 84 cm2, 70 cm2and 30 cm2. The volume

of the bKin em3 is_

10, You’have 3 weights: 1 kg, 3 kg and 9 kg as well as an equal arm balance, as shown.

How many different weight objects can you weigh with these three?

[Remember the weights may be placed on either side]
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1. Did you know? In the decimal number system (base 10) ten different digits, 0 to
9, are used to write all the numbers. In the binary number system (base 2) two

different digits are used, i.e. 0 and 1.

Which one of the following numbers is not a valid number in the
octal number system (base 8)?
A) 128 B) 127 C) 126 D) 125 E) 124
3. The number of diagonals that can be drawn in a regular polygon with
twenty sides (icosagon)is
4. IfaandD are integers, 10® 11 ® .and then 379®6 isequalto .
5. Two numbers are in the ratio 2 : 3. When 4 is added to each number the ratio changes to 5\7
The sum of the two original numbers is____ . F 4
6. The greatest number of Mondays which can occur in 45 consecutive N
daysis -
7. Saul plays a video game in which he scores 4 for a hit and lost 6 for a miss, A’fﬁr 20 rounds his
score is 30. The number of times he has missed is____ . >
8. Three girls A, B and C run in a 100 m race. When A finishes, MO m
behind A and when B finishes C is 20 m behind B. How far in mgtﬁ%s was
C from A when A finished?
(Let’s assume all the athletes run at a constant speed) 4
9. The areas of the faces of a rectangulabox % 84%m2 , 70 cm2and 30 cm2. The volume
of the box in cm3 is .
10+ You have 3 weights: 1 kg, 3 kg and 94§as well as an equal arm balance, as shown.
How many different weight objects can you weigh with these three?
[Remember the weights may be pla&ed on either side]
BHER: ks
v A BERBAFS A RN, B4R 8 BRI A 8
o B iHERE &f
170 HHAEE, AR nX (n-3) <2
o1 SGHHE S, R 3796 IARHL.
5. 40, 1§ Al 2&
6. 7 \»‘
7. b
8. 28, MR HE Y oK RS b, = H IO E D 1 9/10: 18/25
9. 420 /ME T REK
105 13 Ff
sefeleksekkekolokskokokkeokokskekoksksokskokokok Rk 8
YT S PEHR A 2l Je R
Find all prime numbers ( Jii 47 )between 1 and 100 that is 1 greater than four and two less than five
GRS B #1210 100 [T AT B 4 IASECR 1, b s IR Eoh — i) .
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